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Wurzelfunktionen

1)
a) fx)= V(3x) b) fx)= V(2x+1) ¢  fx)= V(6x-3)

3x>0/:3 2x+1>0/-1 6x-3>0/+3
x>0 2x>-1/:2 6x>3/:6
D=[0; +oo ] X>- 1 X > 1
’ -2 -2
D=[R>/=- 1 ] D=[R>/= 1 ]
- 2 - 2

d 0= J(x?) & f(x)=0,5 J(7x—4) 1) fix)= V(x?+3)

x2>0 /N Tx—4>0/+4 x2+3>0/-3

x>0 Ix>4/:7 x2>-3/

D=[0; +c ] x>0,571 x> (f)
D=[R>/=0,571] D =[R]

g)  fx)= V(~4+x?) h) fx)= V(16—x?) Dfx)=3 J(x+2—1)

4+x2>0/+4 16 —x2>0/-16 x+2-1>0

x2>4 A X2>-16/*(-1) Xx+1>0/-1

x>2 x2>16/ x>-1

D=[R>/=2] x>4 D=[R>/=-1]
D=[R>/=4]

D = J(=x-1) K fx)= J=x) D fx)=2 J[-2x)

x2—1>0/+1 Xx>0/*-1) 2x2> 0 /:(-2)
x2>-1/%(-1) x>-1 x>0/
x2>1M D=[R>/=-1] x>0

x>1 D=[R>/=0]

D=[R>/=1]



